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Hi,
I program a PWM signal in PB4 port using TIM3 using this program

int main (void)

{

while(1)

{

TIM3->CCR1 = 1000 ;
}

}

/* TIM3 * /
/* TIM3 clock enable */
RCC_APB1PeriphClockCmd(RCC_APB1Periph_TIM3, ENABLE);

/* GPIOB Clock */
RCC_AHB1PeriphClockCmd(RCC_AHB1Periph GPIOB, ENABLE);

GPIO_InitStructure.GPIO_Pin = GPIO_Pin_4 | GPIO _Pin 5 | GPIO_Pin_© | GPIO Pin_1;
GPIO_InitStructure.GPIO_Mode = GPIO_Mode_AF;

GPIO_InitStructure.GPIO_Speed = GPIO_Speed_100MHz;

GPIO_InitStructure.GPIO_OType GPIO_OType_PP;

GPIO InitStructure.GPIO _PuPd = GPIO_PuPd_UP ;

GPIO_Init(GPIOB, &GPIO_InitStructure);

GPIO_PinAFConfig(GPIOB, GPIO_PinSource4, GPIO_AF_TIM3);
GPIO_PinAFConfig(GPIOB, GPIO_PinSource5, GPIO_AF_TIM3);
GPIO_PinAFConfig(GPIOB, GPIO_PinSource@, GPIO_AF_TIM3);
GPIO_PinAFConfig(GPIOB, GPIO _PinSourcel, GPIO_AF_TIM3);

//

/* TIM3 */

/* Time base configuration */
TIM_TimeBaseStructure.TIM_Period = 1999;

TIM _TimeBaseStructure.TIM_Prescaler = PrescalerValue;

TIM _TimeBaseStructure.TIM_ClockDivision = @;
TIM_TimeBaseStructure.TIM_CounterMode = TIM_ CounterMode_Up;
TIM TimeBaseInit(TIM3, &TIM_TimeBaseStructure);

/* PWM1 Mode configuration: Channell */
TIM_OCInitStructure.TIM_OCMode = TIM_OCMode_PWM1;
TIM_OCInitStructure.TIM OutputState = TIM OutputState_Enable;
TIM _OCInitStructure.TIM Pulse = 0;
TIM_OCInitStructure.TIM_OCPolarity = TIM OCPolarity_High;
TIM_OC1Init(TIM3, &TIM OCInitStructure);
TIM_OC1PreloadConfig(TIM3, TIM_OCPreload_Enable);

/* PWM1 Mode configuration: Channel2 */
TIM_OCInitStructure.TIM OutputState = TIM OutputState_Enable;
TIM_OCInitStructure.TIM_Pulse = 0;

TIM_OC2Init(TIM3, &TIM _OCInitStructure);
TIM_OC2PreloadConfig(TIM3, TIM_OCPreload_Enable);

/* PWM1 Mode configuration: Channel3 */
TIM_OCInitStructure.TIM OutputState = TIM OutputState_Enable;
TIM_OCInitStructure.TIM Pulse = 0;

TIM _OC3Init(TIM3, &TIM OCInitStructure);
TIM_0C3PreloadConfig(TIM3, TIM_OCPreload_Enable);

/* PWM1 Mode configuration: Channel4 */
TIM_OCInitStructure.TIM OutputState = TIM OutputState_Enable;
TIM_OCInitStructure.TIM Pulse = 0;

TIM_0C4Init(TIM3, &TIM OCInitStructure);
TIM_OC4PreloadConfig(TIM3, TIM_OCPreload_Enable);
TIM_ARRPreloadConfig(TIM3, ENABLE);
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/* TIM3 enable counter */
TIM_Cmd(TIM3, ENABLE);
//

It gives a PWM with 50% Duty Cycle

I want to shift time of this signal like this
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What parameter have i to change ?
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Thank you
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